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fahe 13U T & | 08 3791 § @aieT 0 & farhed & IR 17187 |

(vii) 3T HARFT, HTTIHATAR, TEF G 3K J97 & T FNIT (69 1T TT F |

(viii) TFIET & AT H) AT T8 |

TWE-F
T AT 1 9 10 d% Sg—Taehed] T34 &, [H 8 Y% 1 31 1 2 | Fal faehed T -

1095

1. Ties FHIEAHET R
17 25 13 15
@ 55 b) 55 © 15 @ 15 1

2. 3TTSI WhR %l TS 52 Tl ohl AT ohi TSI H ¥ Teh 1 Ao AT [-hIeTl 7731 | Teh T[T
o 37T oh SITTehal 1 & ?

3 1 1 3
(@) 3¢ ®) 59 © 13 @ 79 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vit) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viti) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option in each.

1095
1. The simplest form of 1168 is
17 25 13 15
@ 95 b) 56 © 71 @ 75 1
2.  One card is drawn at random from a well — shuffled deck of 52 cards.
What is the probability of getting a Jack ?
3 1 1 3
@ 355 b) 59 © 13 @ 55 1
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3. T o o o 9T S o1 9id <y o &9 T oFed Tohal ST Hehdl & 7

124 131 2027 1625
@ 765 ®) 39 © 55 @ 462

4., AcuhfgEmATER (k—1) 12 +ke+ | FITHIIR -4 8k HIAFE :
@ - OF © -3 @ 3 1

5. 3lg Tegai A(=3, b) @B, b + 4) % AW a1t {WRIS 1 HeAfag P(—1, 1) &, Al b
W%:

(@) 1 (b) -1 © 2 (CVRY 1

6. T sea w femm ST

= 0-5 | 5-10 | 10-15 | 15-20 | 20-25

AREARAT 10 | 15 12 20 9

H1Eeh o] AT Sgeieh ol eh! =1 HHT3TT o1 ANTHA & :
() 15 ®) 25 © 30 @ 35 1

7. % 91 U 9 gEAT, fSEY 245 9971 1029 HIWF SH W HSI 5 IS 7 |
(a) 15 (b) 16 © 9 @ 5 1

8. Tagali A2, -3) T B2, 2) s d=HIG2:
() 2 ¥ (b) 3 ¥ © 47 (d) 5 ¥hrE 1

9. ¥§IE 3a2 — Tax — 27 o QI ekl I [UHHA & :

(a) 27 ®) 9 © -9 @ % 1
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3.  Which of the following rational numbers is expressible as a terminating

decimal ?
124 131 2027 1625
@ 765 ®) 30 © %5 @ 62 1

4. If one zero of the quadratic polynomial, (k — 1) ¥ + kx + 1 is —4 then the
value of k is

5 5 4 4
@ -5 ® 7 © -3 @ 3 1

5. If P(-1, 1) is the midpoint of the line segment joining A(-3, b) and
B(1,b +4), then b is equal to

(a) 1 by -1 (0 2 (d 0 1
6. Consider the following distribution :
Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Frequency | 10 15 12 20 9

The sum of lower limits of the median class and the modal class is

(@) 15 ®) 25 © 30 @ 35 1

7.  What is the largest number that divides 245 and 1029, leaving remainder
5 in each ?

(@) 15 ®) 16 © 9 @ 5 1

8. The distance between the points A(2, —3) and B(2, 2) is
(a) 2 units (b) 3 units (¢) 4 units (d) 5 units 1

9.  The product of the two zeroes of the polynomial 3x% — 7x — 27 is :

(a) 27 ®) 9 © -9 @ % 1

430/3/2.] 5 P.T.O.
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10. 3fq U sTel feig P & Ueh O ohg ofTet o R al ¥4%1 W@1¢ PA 3R PB 39 ehR @il 775 feh

GHIT 80° o IV T Foh! &, a1 LPOA ST &

(a) 50° (b) 60° © 70° (d) 80° 1

T HE& 11 9 15 ¥ Tk T vl

11. k=1 98 A formes fou afiertor e/ x + 2y = 3 99T 5x + ky = 7 T 1S 8 781 8,
a_ 1

12. (tan 27° — cot 63°) HIUHF 2 | 1

13. afg g @&y Tt &l rd st B 2 3 o1 39 8, d1 3k THAT ST SAITd

g 1 1
14. (a, -b) @1 (a, b) hA=HI gl & u 1
15. (sin 20° — cos 70°) HTAA & | 1

T AT 16-20, T I3 o I &S :

16. 14 &t Brsen ot 99 % U Fsurgs o1 uiwm 68 wft 2 | 39 Frsue &1 &F%a 9

I | 1

e
T o7l <h1 TRIY 39.6 Tl & | IUHI &A% H1d hilT | 1

17. "e3y — 1, 3y + 5 a1 5y + 1 Teh G A1 o Shileh Ue &, 1y 1 HH F7d iU | 1

25
18. ?:ff‘z{sece:7 2, Tl cot O T HM 1A HITT | 1
DG |
3sin 0+ 2 cos 0
H%Stane:zlé‘,a‘f(:asme_hosej 1 0 G I | 1
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10. If the tangents PA and PB from an external point P to a circle with centre
O are inclined to each other at an angle of 80°, then £POA equals :

(a) 50° b) 60° © 70° (d) 80° 1

In Question numbers 11 to 15, fill in the blanks :

11. The value of k for which system of equations x + 2y = 3 and 5x + ky = 7
has no solution is ) 1

12. The value of (tan 27° — cot 63°) is ) 1

13. If ratio of the corresponding sides of two similar triangles is 2:3, then ratio

of their perimeters is ) 1
14. Distance between (a, —b) and (a, b) is . 1
15. The value of (sin 20° —cos 70°) is . 1

Answer the following questions from Question numbers 16 to 20.

16. The perimeter of a sector of a circle of radius 14 em is 68 ecm. Find the
area of the sector. 1

OR

The circumference of a circle is 39.6 cm. Find its area. 1

17. If 3y — 1, 3y + 5 and 5y + 1 are three consecutive terms of an A.P., then

find the value of y. 1
25 !
18. IfsecH= Ea then find the value of cot 0. 1
OR

3sin 0+ 2 0
If 3 tan 6 = 4, then find the value of S]P s
3sin 6 — 2 cos 6

430/3/2.] 7 P.T.O.
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19. THAAH5 A, 4 e 791 3 e § | 9 H 8 AGesAT Th ¢ hIeT T | Wifehal

T I fep TorepTed] 75 7ig et @1 h1 721 2 | 1

20. 3B 14, DE | BC, AD = 2.4 &1, AE = 3.2 5t @1 CE = 4.8 &1 8 | BD 9@
i | 1

A

A
Y

W -9

U9 GEA1 21 U 26 dh Tk I3 h 2 376 & |

21. ﬁ:l@ﬁﬁm::‘\/secz@+cose(329=tan9+cot9 2
YU
in
%W:ﬁ=(aosecﬁ+mt 0) 2

22. p b o AH TG HivT 5ok foTw fgama sientor a2 — 2px + 1 =0 h S IR gl Al & | 2

23. TIIH T T 3BT MU | 1 I1E1 R 147 — =7 Feamd 31 <61 Tiferenan 3md shifsia | 2
A

2 I Teh 1Y 3BT MU | SH1 IiEll T 3 aTed] T3] BT 90 9 § 3Afees 8 i
TIehal FTd Shifa | 2
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19. A bag contains 5 red, 4 blue and 3 green balls. A ball is drawn at random
from the bag. Find the probability of getting a ball not of blue colour. 1

20. In Fig.1,DE || BC, AD=2.4 cm, AE =3.2 cm and CE = 4.8 em. Find BD 1
A

/\s
VAR

Fig. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. Prove that : \/se029 + cosec?d = tan 0 + cot 0 2
OR
rove that : 77~ = (cosec O + cot 0)

22. Find the values of p for which the quadratic equation x% — 2px + 1 =0 has no

real roots. 2

23. Two dice are thrown at the same time. Find the probability of getting

different numbers on the two dice. 2
OR

Two dice are thrown at the same time. Find the probability that the sum

of the two numbers appearing on the top of the dice is more than 9. 2

430/3/2.] 9 P.T.O.
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24. TH dA U 5 A, 8 The qUT 7 HieAl e & | Il U F U T AgesAn Fepred TE |
TTIehal 3TTd shifa o TepTefi T Tig

@)
(i1)

AT I Hhe W hHT 2 |
Hhe G al 3 |

25. Uh g o thg ¥ 5 U ol gl T e weh feig A § I R wli= 73 Uk wni T 6 wieg
4 91 8, a1 I 1 <A™ 14 i |

26. 3 I 1 &AB 1 shitg Foreshl aify 44 i 3 |

e -1

TP I 27 H 34 G T U 6 3 376 B |

27. 3Thid 2 H et e § W@ Twhi (desks) 1 SHaegT TS ME B | I, WRA T

Fren shA: fagati A, B @un C w ol 8 | Tyl & ST i :
ST hifeTe fop o fiH1 eiefendl U S @ H §31 § |

@)

(i) F¢ A B CH@ g @ 91 HifSe fop fog B, Wrave AC 1 69 U@ §

fofsa a2 |

1

B

&

O = W st Oy 0O O

A
i

s

1234 5 67 8 910

28. Tl 3ehi hi Ueh HEAT & 3ehl &1 AMHA 10 2 | Ife T 0 H 18 =71 feam e a1 37ehi &
T TS F1d 8 | TN T hifST |
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A bag contains 5 red, 8 white and 7 black balls. A ball is drawn at random
from the bag. Find the probability that the drawn ball is

(i) red or white
(i1) not a white ball

The length of a tangent from a point A at a distance of 5 ecm from the

centre of the circle is 4 em. Find the diameter of the circle.

Find the area of a circle whose circumference is 44 cm.

Section - C

Question numbers 27 to 34 carry 3 marks each.

In Fig. 2, arrangement of desks in a classroom is shown. Ashima, Bharti
and Asha are seated at A, B and C respectively. Answer the following :

(1) Find whether the girls are sitting in a line.

(1)) IfA, B and C are collinear, find the ratio in which point B divides the

line segment joining A and C.
10

Rows
e R S Y Y & e I <IN

B

AL ;
1 23 4 5 6 7 8 910
Columns

Fig.-2

A number consists of two digits whose sum is 10. If 18 is subtracted from
the number, its digit are reversed. Find the number.

i
A5

30/3/2.. 11 P.T.O.
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29. defendfr\2 ok smftm den g, difaghfaets (7 - 22) w smfdm e 3
Froran

TS TUFEVE TafY | 44, 96 T9T 404 H1 9.9, (HCF) F1d HifIT | 37: 3761 A.49.
(LCM) 31a i | 3

30. =g 1 @I -2, 9§98 (x® — 442 — T + 10) % I &, 1 ST AT8 I A hifT | 3

31, 3 A Foe o1 o o W | 6 3 g & 7 6 g T e e feg & g )

[T hl WA HIT | 3
FHUYA
8 T TS 1 Ueh LTS Wi a1 3H 3 : 4 % 3191a H fawiioa S | 3
32. faghifsg: cos + sin 0 = (cos 0 + sin 0) 3
(1-tan6) (1 —cot 6)
FHYA
Tag HIT : (sin 6 + cosec 0)2 + (cos O + sec 0)2 = 7 + tan20 + cot26. 3

33. (A 3 H XP 91 XQ, g O drel ga W fag X | wfieh 73 #0931 @ard & 71 AB 96
fig R e w2 |
fag$IfST: XA+ AR=XB + BR 3

T 3

34. Qi h et 8 el qut 6 A € | 3@ o <1 Forsen e I et SEwet < g
o STAHET b I b ST & | 3
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29. If4/21is given as an Irrational number, then prove that (7 — 2\]5) is an

irrational number. 3
OR

Find HCF of 44, 96 and 404 by prime factorization method. Hence find

their LCM. 3

30. If 1 and —2 are the zeroes of the polynomial (x® — 4x2 — 7x + 10), find its
third zero. 3

31. Draw a circle of radius 3 em. From a point 7 em away from its centre,

construct a pair of tangents to the circle. 3
OR
Draw a line segment of 8 ecm and divide it in the ratio 3 : 4. 3
32. Prove that a iosai 0) + a in;o?; 0 = (cos 0 + sin 0) 3
OR
Prove that (sin 0 + cosec 0)2 + (cos 0 + sec 0)2 = 7 + tan?0 + cotZ0. 3

33. In Fig. 3, XP and XQ are tangents from X to the circle with centre O. R is a
point on the circle and AB is tangent at R. Prove that : 3

XA+ AR =XB +BR

Fig. 3

34. The radii of two circles are 8 em and 6 em. Find the radius of the circle
having its area equal to the sum of the areas of the two circles. 3

430/3/2.] 13 P.T.O.
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wWE -9
U9 ST 35 U 40 dh T I 4 376 & |

35. Thg ST feh U THeI0T TS H Ul <kl ol 219 QI TSI o 11 oh AN h SRISH BA1a | 4
Froran
g il fep Terelt sTe foig @ ot ok W= 773 w9 Wil <h! sl SUek i & | 4

36. Uh TR Tl o &oTTeh Tordeh! ofl 21 W.HI. &, o Teh Heteh ol 3TEL hl TR H HIHL
Toh 3T TR TTSET 39 TehR ST 1T ¢ Teh 374 TTiet o1 SATE | oh Toh-TH o ST & |
9 s 319 T A F1d Shifag | 4

HIA

12 9.9, =9 991 15 A.H. 5913 9Tl Teh 91g o 31| oot i TTeeiehl Th ALl X
FIRYT I 591 o 9 S8 12 FaaiH1 4 ST 73 | T4l shi s a1 fagei 6

Fel TS T hifTT Seifen fean 2 o6 vip Y Sarrg soehl B R i 7 4
37. UH THT A€ GUH 6 UGT 1 IAT 42 B | 386 109 9 AT 30 o Ug H 391 1 : 3 &1

2 | 33 ST A 19U I aYT 13971 IS Id hifay | 4

O

100 3R 300 = s 1 Tt forom HEa131 &1 TITHe 1 shIfT | 4
38. 7 Hl. 3 9o & TG ¥ e et 2fel o G &1 314 I 60° 8 3T $HP IS 1

ST I 45° 2 | STt 61 =TS T it | 2 frf3 = 1.732 2) 4
39. T sea &1 u1ed | Hif -

= 100-150 | 150-200| 200-250 | 250-300 | 300-350

ARERAT : 4 5 12 2 2 4

40. T o= %I S § 3 T gl a9l mﬁsaﬁm#mﬁ%wﬁwm%%l
IHeh! FAHT 37T A 1T | 4
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Section - D
Question Nos. 35 to 40 carry 4 marks each.

35. In a right triangle, prove that the square of the hypotenuse is equal to sum

of squares of the other two sides. 4
OR

Prove that the tangents drawn from an external point to a circle are equal

in length. 4

36. A hemispherical depression is cut out from one face of a cubical wooden
block of edge 21 em, such that the diameter of the hemisphere is equal to
edge of the cube. Determine the volume of the remaining block. 4

OR
A solid metallic cylinder of diameter 12 em and height 15 em is melted and
recast into 12 toys in the shape of a right circular cone mounted on a

hemisphere of same radius. Find the radius of the hemisphere and total
height of the toy, if the height of the cone is 3 times the radius. 4

37. The sum of first 6 terms of an A.P. is 42. The ratio of its 10t term to 30th

term is 1:3. Find the first and the 13t term of the A.P. 4
OR
Find the sum of all odd numbers between 100 and 300. 4

38. From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60°, and the angle of depression of its foot is 45°. Find the

height of the tower. Given that ‘\/g =1.732. 4

39. Find the mean of the following distribution :
Class : 100-150 | 150-200| 200-250| 250-300 | 300-350
Frequency : 4 5 12 2 2 4

40. The sum of the reciprocals of the ages of a child 3 years ago and 5 years

hence from now is 3 Find his present age. 4

430/3/2.] 15




www.cbseboardonline.com

i
A5

430/3/2.] 16

;
L



